This question is about an experiment with a retractable steel tape measure.

The tape measure is placed at the edge of the bench and about 1 m of the steel tape is extended
so that it overhangs the bench.

The tape is then locked in this position to stop it from retracting.

A student measures the dimensions x and y, the horizontal and vertical displacements of the free
end of the tape, as shown in Figure 1.

Figure 1

retractable
steel tape
measure

7

steel tape”

floor
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(@) Describe a suitable procedure the student could use to measure'y.
You may add detail to Figure 1 to illustrate your answer.

clamp a meter rule next to the tape measure that extends horizontally. Use
another rule at the end to measure the drop. A set square could be used to
ensure a right angle, or a piece of string with a mass to ensure vertical line

to measure against

2
(b) By changing the extension of the tape, the student obtains further values of X and Y.

These data are shown in the table.

X/cm y/cm
132.4 61.2
116.8 33.7
105.1 24.3
94.5 15.6
84.3 11.0
73.2 57

Suggest why the student chose to make all measurements of X greater than 70 cm

—perhaps the rule didn't have enough mass until 70cm to cause it to bend
more likely though that the student felt the measurement was too small
— |compared to the uncertainty in the reading leading to too large a
percentage error in the reading.

1)
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(c) The data from the experiment suggest that y = Ax" where n is an integer and 4 is a
constant.

These data are used to plot the graph in Figure 2.

Determine n using Figure 2.

g Al o loyy = lgh- 0
50‘1\13@&'\0& :}76 . /"L

Figure 2 /\

\ «\\W&u
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log(y/cm)

1.85 1.90 1.95 2.00 2.05 2.10 2.15
log(x/cm)

3)
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(d) Explain how the numerical value of A can be obtained from Figure 2.

= /A(')(n :>(/5’7 D= |AnA_.n%57L

D SO I

—

|)

0~ W= my + ¢

@)

(e) Estimate the order of magnitude of 4.
You should use data for x and y from any one row in the table above.
Give your answer with an appropriate unit.

b:AL/\ 5> Ay n=
N

e A S

0> 1S -h

e

(3)
(Total 12 marks)

N Cn
cmt
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This question is about an experiment to estimate absolute zero.
Figures 1a to 1d show the stages in the procedure carried out by a student.

An empty flask fitted with a tube and an open valve is placed in water bath H containing hot
water. The air inside the flask is allowed to come into thermal equilibrium with the water.
The valve is then closed, trapping a certain volume of air, as shown in Figure 1a.

Figure 1a

valve closed

-~ ¢
w

—+—water bath H
(hot water)

The flask is inverted and placed in water bath C in which the water is at room temperature.
The air inside the flask is again allowed to come into thermal equilibrium with the water, as
shown in Figure 1b.

Figure 1b

——water bath C
(room temperature)
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The valve is opened and some water enters the flask, as shown in Figure 1c.

Figure 1c

—+—water bath C

The depth of the inverted flask is adjusted until the level of water inside the flask is the same as
the level in the water bath.
The valve is then closed, trapping the air and the water inside the flask, as shown in Figure 1d.

Figure 1d

—+water bath C

(a) Explain why the volume of the air in the flask in Figure 1c is less than the volume of the air
in the flask in Figure 1d.

wulix C&\MAM W\s")
Sump o\) oo“s\s\@& VU ands™
lrb\ﬂm\m [

2
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(b)  Explain why Charles’s Law can be applied to compare the air in the flask in Figure 1a with
the air in the flask in Figure 1d.

(= &% K e, oonrt_ \\y
Ve ConsmssT s s
M’(\N\\WS\ 5>

2

(c) The flask is removed from water bath C and the valve and stopper are removed.
The volume of the water in the flask is V;
The flask is then completely refilled with water and the valve and stopper replaced.
The volume of the water now in the flask is V>
The volumes V4 and V, are shown by the shaded parts in Figure 2.

Figure 2

volume F; volume I _
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Explain how V; and ¥, can be determined.

In your answer you should

. explain a suitable procedure to eliminate possible systematic error.

ONG. S Vo, arthae
\ ,\O LB ‘ >§ N

b‘f?\g\ W U by o

. identify a suitable measuring instrument \

@)

Roding Valley High School Page 9 of 93



(d) Plot on Figure 3 points to show the volume V and the temperature @ of the air in the flask
when

the flask is as shown in Figure 1a \/ _ e 2
the flask is as shown in Figure 1d. - ‘& \ < Mo ‘
n\\\T V\ .

The temperature of the hot water bath is 86 °C

Room temperature is 19 °C

V1=48cm3,\1\i\‘;¢(\5v) :,255 - (\% - 207 o\,\l‘so\wxﬂo Bm

- 255 om? K
V, =255 ( ) 1,0—)_>

Figure 3
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3)
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(e) Add a best fit line to your graph in Figure 3 to show how ¥ should vary with 6 according to
Charles’s Law.

Q)

(f)  Determine the value of absolute zero in °C using your graph in Figure 3.
W= maet ™M=Q-79 = 19G
V2 OMLT 4+ 19l
20T W
Sek,\f:_g > ©~_®72~\J\]q
- 4% o\

0N \26(& , <T ;

value of absolute zero =

{l/

3)

0 \f_2_7© " (Total 14 marks)
196
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A pencil, unsharpened at both ends, has a cylindrical graphite core of uniform diameter ¢
surrounded by an octagonal (eight-sided) wooden body.

Figure 1 shows an end view and a cross-sectional slice along the length of the pencil.

Figure 1

cylindrical graphite
care of the pencil

—

end view of the pencil showing \‘\

the octagonal (eight-sided) both ends of the unsharpened pencil are flat
shape of the wooden body
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(@)

(b)

A student used a micrometer to measure the width w at several points along the length of

the pencil.

Explain why the student used this procedure to determine a value for w.

The student’s results are shown in the table.

w,/ mm Wy / mm w3/ mm ws/ mm ws/ mm
7.23 7.10 7.06 7.20 7.16

Determine the percentage uncertainty in the result the student obtains for w.

7-L5- 720 6

oy

-
-—

Mo~ (|5

-
-~

Q- ‘O‘BS s \00
N Yo=2

2.5

percentage uncertainty =

o177
715 %

4

0 ¥
/,?'/

0.0QS

g (B 55)
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(c)

%

The cross-sectional area A of the end of the pencil is given by

A=0.83wn?

-~

The volume of the cylindrical core is known to be 9.0% of the volume of the unsharpened

The cylindrical core of the graphite has a diameter d.
Determine d.

_ : £ "

- Axl_ D'OqXAXl} =

Wigle JTC

\/Sz

75%.},( L . 21\ mm

\/3 - 008\ @

(d)

(e)

A student investigates the rate at which a similar pencil wears away through use.

The student measures the length of the pencil using a sliding vernier scale placed
alongside a fixed scale. The fixed scale has a precision of 1 mm.

Figure 2 shows the vernier scale in the zero position.
Figure 3 shows the pencil (which is now sharpened) placed next to the fixed scale.
The position of the vernier scale is adjusted so that the length of the pencil can be read.

Read and record the length of the pencil shown in Figure 3.

length of pencil = gg - } mm

Q)

The pencil is then removed from the scale and is used to draw 20 lines on a sheet of paper.
Each line has a length 25 cm.

The pencil is then replaced next to the fixed scale and the vernier scale adjusted so the
new length of the pencil can be read, as shown in Figure 4.

Read and record the new length of the pencil shown in Figure 4.

new length of pencil = %‘238 mm

M
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(f) L4y is the length of the line that could be drawn which would cause the original length of
the pencil to be halved.

Calculate L.
Ignore any decrease in length as a result of sharpening the pencil.
AN :
P 85~ 85D - [Smm 20 g\
oD 25 = S m

5o 1 Sman b etk droing Sy

\./(,, = gS> = 5«2_(5,..‘,\,\ :7 L‘\,,bz Ll'l"-smmx S
v )-S
Lip= ](L.Z l7 m

(2

e
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Figure 2
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(Total 9 marks)
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